

$$m = \frac{k-m}{-v-k} = -\frac{1}{v} \rightarrow k-m = v$$

$$|AB| = \sqrt{(k+v)^2 + (v)^2} = \sqrt{k^2 + v^2 + 2kv + v^2} = \sqrt{k^2 + 4v^2} = v\sqrt{4 + \frac{k^2}{v^2}}$$

$$S_{\text{عم}} = v\sqrt{4} \times v\sqrt{4} = 4v^2 = 4v^2$$

$$m_{AB} = m_{CD} \rightarrow \frac{k-1}{-1-k} = \frac{v+v-y}{-1-v-y} \rightarrow \frac{k}{-k} = \frac{v}{-(1+v)} \rightarrow v = 1, v \rightarrow C(1, 1)$$

$$AC \perp AB \rightarrow m_{AB} = -\frac{v}{k} \Rightarrow m_{AC} = \frac{k}{v} \quad \frac{k}{v} = \frac{y-1}{x-1} \rightarrow y-1 = \frac{k}{v} \times \left(-\frac{v}{k}\right) = -1 \rightarrow y = 0$$

$$\sqrt{4+16} = \sqrt{20} = 2\sqrt{5} \rightarrow 2(v^2 + w) = 10$$

$$\sqrt{\frac{9}{k} + k} = \sqrt{\frac{40}{k}} = \frac{2}{v} \sqrt{10}$$

$$(m^2-1)y = -kmx + k \quad y = \frac{-k}{m^2-1}x + \frac{k}{m^2-1} \quad \tan \theta_0 = \sqrt{k} \rightarrow \frac{-k}{m^2-1} = \sqrt{k} \rightarrow \sqrt{k}m = \sqrt{k} \rightarrow m = 1$$

$$\sqrt{k}m^2 + km - \sqrt{k} = 0 \rightarrow m^2 + m - \sqrt{k} = 0 \rightarrow \left(m + \frac{1}{\sqrt{k}}\right)\left(m - \frac{1}{\sqrt{k}}\right) = 0 \rightarrow m_1 = \frac{1}{\sqrt{k}}, m_2 = -\frac{1}{\sqrt{k}}$$

$$m_1 - m_2 = \frac{1}{\sqrt{k}} - \left(-\frac{1}{\sqrt{k}}\right) = \frac{2}{\sqrt{k}} \sqrt{k} = \frac{2\sqrt{k}}{\sqrt{k}} = 2$$

$$m_{BC} = \frac{11-k}{v-k} = 2 \quad y = 2x - k \rightarrow -km + y + k = 0$$

$$\frac{|-k(1) + 1(9) + k|}{\sqrt{k+1}} = \frac{10}{\sqrt{5}} = 2\sqrt{5}$$

$$S_{AB} = y + km = v \quad x = \frac{-19-1k}{-v-k} = \frac{19+k}{v+k} \quad y = \frac{-2k+19}{-v-k} = \frac{2k-19}{v+k}$$

$$\frac{n}{\frac{n}{\mu}} = \frac{q-n}{q} \rightarrow qn = q \times \frac{\mu}{\mu} - \frac{\mu}{\mu} n \rightarrow \frac{\mu \sqrt{r}}{\mu} n = \frac{q}{\mu}$$

$$n = \frac{q}{\mu}$$

$$\frac{r}{\mu} \sqrt{r} \quad \quad \quad \sqrt{r_n^2} = n \sqrt{r} = \frac{r}{\mu} \sqrt{r}$$

$$\sqrt{r}$$

$$\begin{cases} ay - x = a - 1 \rightarrow y = \frac{n}{a} + \frac{a-1}{a} \rightarrow \frac{1}{a} = a \rightarrow a^2 = 1 \rightarrow a = \pm 1 \\ y = an + 1 \rightarrow y = an + 1 \end{cases}$$

$$a = 1 \quad \vec{OU} \rightarrow y = n + 1 \rightarrow y = \frac{|c-c'|}{\sqrt{a^2+b^2}} = \frac{1}{\sqrt{r}} = \frac{\sqrt{r}}{r}$$

$$[a = -1 \quad y = -n + 1, y = -n + 1 \quad \vec{OU}]$$

$$\omega = \sqrt{n^2 + y^2} = \sqrt{\left(\frac{\sqrt{r}}{r}\right)^2 + n^2} = \sqrt{n^2 + \frac{r}{r^2}} \rightarrow n = \frac{r}{\sqrt{r}} \rightarrow n = \frac{r}{\sqrt{r}} = \frac{\sqrt{r}}{r}$$

$$S = \frac{r}{r} \times \frac{\sqrt{r}}{r} = \frac{\sqrt{r}}{r} = \frac{1}{\sqrt{r}}$$

$$y = \frac{1}{\mu} x - \frac{1}{\mu} \quad m_{AC} = -\mu \rightarrow y = -\mu x + 1$$

$$-\mu x + 1 = \frac{1}{\mu} x - \frac{1}{\mu} \rightarrow \frac{\mu}{\mu} = \frac{1}{\mu} x \rightarrow x = \mu, y = 0, 1$$

$$AC = \sqrt{(0, \mu)^2 + (0, 1)^2} = 0, \mu \sqrt{10} \quad BC = \sqrt{(\mu, 0)^2 + (0, 1)^2} = 0, 1 \sqrt{10}$$

$$S = \frac{AB \times BC}{r} = \frac{0, \mu \sqrt{10} \times 0, 1 \sqrt{10}}{r} = \frac{0, 1 \mu}{r}$$

$$m = \sqrt{r} = \frac{b-a}{-\frac{1}{r} + \frac{1}{r}} \rightarrow \frac{b-a}{\frac{1}{r}} = \sqrt{r} \rightarrow b-a = \frac{\sqrt{r}}{r}$$

$$a = \sqrt{(x_A - x_B)^2 + (y_A - y_B)^2} = \sqrt{\left(\frac{1}{r} + \frac{r}{r^2}\right)^2} = \sqrt{\frac{r}{r^2}} = \frac{r}{r} = \frac{1}{r}$$

$$a = \frac{\sqrt{r}}{r}$$

$$\sqrt{r^2 + r^2} = a \quad m_{OA} = \frac{r}{r} \rightarrow m_L = -\frac{r}{r} \quad OA = y = \frac{r}{r} x$$

$$L' = \frac{r}{r} x + C \rightarrow \frac{r}{r} \times \frac{r}{r}$$

$$r = a = \frac{C}{\sqrt{r^2 + \left(\frac{r}{r}\right)^2}} = \frac{C}{\frac{r}{r}} = \frac{rC}{r} = C \rightarrow C = \frac{r}{r} \quad L = -\frac{r}{r} x - \frac{r}{r}$$

$$\frac{r}{r} x_B + \frac{r}{r} = -\frac{r}{r} x_B - \frac{r}{r} \rightarrow r x_B = -1 \quad x_B = -1 \quad y_B = -\frac{r}{r} + \frac{r}{r} = -1 \quad (-1, -1) = V$$